. T1tttt signal events Predicted Observed
Mot Mo Lr[GeVl  Hr[GeV] m  Binname (1.8,1.3) TeVg (2.2,0.1)TeV  background events events
[6,8] 1 [250,450] [500,1500] 1 Ala 1.31+0.11 <0.01 576 + 29 570
>2 Alb 0.08 +0.03 <0.01 1342 14
>1500 1 A2a <0.01 0.01 £0.01 47 +7 42
>2 A2b <0.01 0.04 +£0.01 5+1 3
[450, 600] >500 1 A3a 0.56+0.08  0.05+0.01 31+6 16
>2 A3b 0.04+0.02 0.07£0.01 1.04+03 1
>600 >500 1 Ada 0244+0.05 0.51£0.03 742 8
>2 Adb <0.01 0.59 +0.03 1.0+05 0
2 [250,450] [500,1500] 1 Bla 2694015 0.01+£0.01 532 +26 586
>2 Blb 0.40 + 0.06 <0.01 16 +2 19
>1500 1 B2a 0.01 £0.01 0.03+0.01 30+5 34
>2 B2b <0.01 0.07 £ 0.01 34408 1
[450, 600] >500 1 B3a 1.164+0.10  0.07+0.01 27+6 34
>2 B3b 0.18+0.04 0.11+£0.01 1.1+£05 2
>600 >500 1 B4a 0.49+0.07 0.76 £0.03 62+1.6 6
>2 B4b 0.12+0.03  0.93+0.03 0.23 +0.08 0
>3 [250,450] [500,1500] 1 Cla 3.69+0.17  0.01£0.01 115+7 105
>2 Clb 0.64 £0.07 <0.01 6+1 3
>1500 1 C2a <0.01 0.04 +£0.01 742 10
>2 C2b <0.01 0.08 +0.01 1.0+04 2
[450, 600] >500 1 C3a 1.254+0.10 0.07+0.01 5+1 4
>2 C3b 0.274+0.05 0.12+0.01 0.63 +£0.43 0
>600 >500 1 C4a 0.52+0.07  0.70 £0.03 14404 4
>2 C4b 0.09+0.03 0.87£0.04 0.05 £ 0.04 0
>9 1 [250,450] [500,1500] 1 Dla 0.39 £ 0.06 <0.01 32+3 26
>2 D1b 0.11 £ 0.03 <0.01 21406 4
>1500 1 D2a 0.02 +0.01 0.01 +0.01 6+1 11
>2 D2b 0.02 +0.01 0.02 +0.01 1.04+03 2
[450, 600] >500 >1 D3 0.19+0.05 0.04 £0.01 234+0.6 2
>600 >500 >1 D4 0.18+0.04 0.33£0.02 0.6+0.3 0
2 [250,450] [500,1500] 1 Ela 1.00 £ 0.09 <0.01 35+3 35
>2 Elb 0.42 +0.06 <0.01 32407 2
>1500 1 E2a 0.04+0.02 0.01£0.01 8+2 6
>2 E2b 0.03+0.02  0.04 £0.01 1.0+04 2
[450, 600] >500 1 E3a 053+0.06 0.04£0.01 1.74+05 1
>2 E3b 0.14+0.04 0.04 £0.01 02+0.1 0
>600 >500 1 E4a 0.424+0.06 0.22+0.02 09+04 1
>2 E4b 0.18+0.04 0.43+0.02 0.06 + 0.04 0
>3 [250,450] [500,1500] 1 Fla 2.25+0.13 <0.01 1342 7
>2 F1b 1.09 £ 0.09 <0.01 24408 2
>1500 1 F2a 0.03+0.02  0.02+£0.01 4+1 0
>2 F2b 0.04+0.02  0.08+0.01 0.7+0.3 0
[450, 600] >500 >1 F3 1.394+0.10 0.12+0.01 1.14+04 2
>600 >500 >1 F4 0.89+0.08  0.96 £0.03 0.24+0.16 2




